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Sbr, WTHR HfeUAE St $ 0T 34, Two-thirds of the mangoes ... rotten.
LR o, e . was . were
1. coend 9. W LA 9. hasbeen ¥ none of the above ®. ¥
S». AOTF BT TAGE ‘AET WA AT apBt: wstr-Hints (S&® Competitive English)
Bfre ¥ e 3. Which one is a correct sentence?
<. S A . Téf?:w % 2. The man as well as his sons were present.
:;ZT:( m‘r'::; ) ¥ 4. The man as well as his sons was present.
A : T ’ :, ' sI. The man as well his sons are present.
%e. o P WAl TS T/ GO T oy 9. The man as well as his sons have been
.
. TS o, s ey present. '
o1, TSy . ey 8. ¥ sft: wat-Hints (WM Competitive English)
ofb: (ST T, ST TEHE) ' ». The expression “take into account”
5. The Phrase ‘make up for’ means- means- ,
. compensate <. ignore ¥, Count numbers 9. Consider
st made for < understand . 5. Think seriously ¥. Assess .9
W: WY (W COmpetitiVe Eng]ish) ‘Tﬁfﬁ \bﬁe-HintS (WH@ Competltl\’e Engllsh)
23, Use an appropriate preposition in the 0. You ar? Nfl"“d'f'"a’ I see,: The
blank. This culture is alien ... our appropriate article will be used in the
society.www._prebd.com blank is-
. with <. in ¥.an ¥. the
ot into . to B o a ¥. none of the above ©. o
2. If they helped me, I ... *[B1: 98 (WIS Competitive English)
=. If they helped me, I would succeed. o3, If I had a pen, I (write) a letter. Here the
4. I they helped me, I would have succeeded. nght'f_orm of verb‘;s- 1d wri
o1, If they helped me, I succeeded. :' “’_Tl"“g_t o write .
9. If they helped me, I will succeed. T©. % ﬁ‘fttor’?ﬂﬂe@ C . t'? w;tt?nh) -
j’é’r: 8b-Hints (W&® Competitive English) o ompetitive tngls .
38. We found the house- o2, What is the full name of great American
' . abandoned short story writer O’Henry?
q' ; an %"ed ed 3. Alexander Pope
N t:‘};‘: : b";‘; d‘;‘r‘md <. William Sydney Porter
) . Mark Twai
9. none of the above T3 - W?lrliamw;;:ke 3 4
s¥t: oev-Hints (W® Competitive English) 'TéT 335 (S Competitive English) )
3e. “If .WI:’IE’EI' pomes, c:.n!, spring be far | oo Which ane of the following is correct?
behind?”- who said this? . “Ode to Autumn” is an essay by John Keats?
:' }’}? zhelley 4. “Waste Land” is a poem by T.S. Eliot.
q‘ V?(il?ian?a:hs’ords orth . “Of Reading” is a drama by Bertrand
. Wi
. Russel.
‘::E'E‘Ellx‘a(idendgé)mpetitive English) %3 9. Animal Farm” is an epic by George Omgll.
) e .9
0. “TS ';e l*l“’ not to b':; ' gas :ﬂkeﬂ from- o(B: av-Hints (%7 Competitive English)
%, Othello . Hamlet
sI. Macbeth 9. Julius Caesar ©. % R4 § R 00 OTPRA 1T
o81: 30 (WSIT® Competitive English) YRS TN} T AT T

‘@G5 Competitive English’
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©8. Synonym of the word ‘consolidate’ is- 8o 1. 1_ im ppep—

@, contrive ¥, conspire 6! 7 8l

o, strengthen . think of T, o T 64 . 56

" q0¢ (WS Competitive English) . 48 9. 42 T3

ot. Who is a Victorian poet?
T W.B. Yeats 9. P.B. Shelley
s. T.S. Eliot 9. Alfred Tennyson 8.9
sft: 8y (WEF® Competitive English)

vy, Which two cities are dealt in ‘A Tale of

Two Cities’?

%, London and New York

¥, Paris and Birmingham

s, London and Paris

9. Moscow and Lisbon

*BT: a3 (WSS Competitive English)

T, o

©q, We made them go there. I®fa s

AW A

¥, T SAALE (TS AT A |

¥, 3T SR (AT JFS I |

o, AT SITAACE (TS I |

9. Bl AR AL
obr.] know their residence (make it complex)

%. | know where they reside.

¥, | know where did they reside.

st. | know where are they residing.

¥, None of the above Ta

ob, It is an email address. In this sentence

‘email’ is-www._prebd.com

. Adjective ¥, Adverb

o, Verb ¥, None of the above = &. &
8o. The man addicted to-

. smoking ¥, smoke

o, smoked  ¥.noneoftheabove U©.F
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